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Was ist die richtige Losung? (plus Zahlen bis 100)

Plusrechnen

4 928+ 4= 5. 240+6= 6 69F+5=
7 192+0= s 944 +F= 9. 168 +5=
0.312+5= 11.368+ 7= 12.930+0=
3.83+10= 4414 +F= 5. 54 +4=
6. 481+0= 17 792+ 1= 18.931+6=
19.821+7F= 20579 +10= 21830+ 10=
2.861+0= 3.9951+5= 42439+ 4=
5345+ F= 26899 +4 = 7 412+ F=
8.298+7F= 9 160+ 1= 00 1+9=
3. 58 +5= :2236F+10= 2947 +4=
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Was ist die richtige Lsung? (plus Zahlen bis 100) | ANTWORTEN * KK

Plusrechnen

£ 928+ 4= 932 5 240+ 6= 246 , 697 +5= 702
7 192+0= 192 ; 544 +7=1551 , 768+5= 773
0.312+5= 317, 368+7= 375 , 530+0= 530
5.83+10= 93 L 474+7=481 5 54+4= 58
6. 481+0= 481 5 792+1= 793 5 931+6= 937
0. 821+ 7= 828 5,579 +10=589 , 830+ 10 =840
22.861+0= 861 5 951 +5= 956 ,, 439 + 4 = 443
5345+ F =352 ,, 899+ 4= 903 4 472+ 7= 479
5.298+7 =305 5 760+1= 761 3 1+9= 10
5. 58 +5= 63 3,367+ 10=377 33547+ 4= 551
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